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Ministry of Higher Education and Scientific Research
Al-Furat Al-Awsat Technical University
Eng. Tech. College — Najaf/Automobile Tech. Eng. Dept.
1*' Course Examination, January- 2017
Subject: Thermodynamics Class: 1* year.
Time: 2 hours Date: / /2017.
Note// Answer four questions, each question carries 25 marks

‘_‘——_—-—_—__E‘“____
Q).

)A— Define the thermodynamics and classify the thermodynamics system? (13 marks)

B- What are the ordinary and absolute temperature scales in the SI and the English system?

(12 marks)

*********************************************************************#**%****
Q2): An Engineering Technical College/ Najaf (ETCN) is paying $0.12/kWh for electric
power. To reduce its power bill, the ETCN installs a wind turbine with a rated power of
30 kW. If the turbine operates 2200 hours per year at the rated power, determine the
amount of electric power generated by the wind turbine and the money saved by the
school per year? S (25
marks) F

]

1

*****************ﬁ***********************************************************

Q3) Complete this table for water: (25 marks)
T /°C] P[kPal | h fd/kg] [ x Phase description |
200 _ 0.7 |
140 | | 1800 | m
1950 0.0 |
. 800 3162.2 ' ]
.80 | 500 | |

**********‘k*'}r‘k***‘k*7'1.'*7':**********7’#*‘k*‘k**:’r:’f:—'r?‘f**'k**-n‘:*f{-}:ﬁq’::‘:‘#:‘:**‘k************:T;*:l::.'f*

Q4) A piston— cylinder device initially contains 0.35kg steam at 3.5 MPa, superheated by
7.48°C. Now the steam loses heat to the surroundings and the piston moves down, hitting
a set of stops at which point the cylinder contains saturated liquid water. The cooling
continues until the cylinder contains water at 2008°C. Determine: A) The final pressure
and the quality (if mixture). B) The boundary work. (25 marks)
************************************k**#t*f***ﬁ**ﬁ***ﬁ**********ﬁ**#**#**t*k*
Q53)

A- Determine the mass of air in a room whose dimensions are ImXSmx7m at 100kPq and 25°C?

R=0.287kJ/kg.K (13 marks)

B- Ikg of air at 500°C is expanded isothermally from a pressure of 2MPa to a pressure of 0.5MPa,

find the work done by the air. (12 marks)

***************************************************************’ ok e v ok ek o

Examiner

Dr. Hyvder IR Balla
Head of Department
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Answer three questions including Q4.
All questions have equal marks,

Q1: Find the components of the following forces shown in figure,

aY
| f i
[ Fo= 500N ;=800 N

ng 800 N

' o
b (4 m - —:—»E
!

Q2: At what angle must the force 800-Ib be applied in order that the
resultant R of the two forces has a magnitude of 2000 Ib?

1400 Ib




ensure a resultant T directed along the spike. ;\]Hn
find T
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Answer all question

Q1\A\ What is the desktop components? list and explain. I15M
Q1\B\Explain a five options in shut down button 15M
Q2\ A\ What is the keyboards shortcuts for this commands in windows? 10 M

1- Close

2- Copy

3- Undo

4- Help

5- Quit

6- Restart

7- Open start menu
8- Select all

9- Move to Recycling

10- Find

Q2\ B\ List the options view and sort by in right click on windows desktop 715M
Q2\C\ What is the Kun in Start Menu? 5M

Q3\A\ make tree below in MS Dos and do the following commands 20M

1- Rename c2 to ¢5
7. Create text file in 2016
3- Delete 2016

Q3\B\ List five command for External Commands MS Dos 10M

Q3\C\ Compere between this MS Dos Commands (Dir/p, Dir/w, Dir/ad and
Dir/a) 10M

Balall LR
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Dep. : Automobile Eng. Techniques.
Grade Level: 1st.
Object: Engineering Drawing

ATU University

¥ Technical College Engineering - Annajaf

Exam Time: 2 hours.

********************************************************************

Q1: Use Geometrical Constructions to draw Figure (1) 40 marks

&

Figure (1)

Q2: From Figure (2), Draw: Front view, Top view & Side view
60 marks

(Put the main dimensions)

Figure (2) ’
Head of Automobile Dep.

Fak

Ass. Lect. Fatima M. Kadhim Dr. Haider H. AL- Abdili
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agher Education and
Aitific Research
it Al-Awsat Technical
University
sechnieal Engineering College
L. of Automotive Technique
Engineering

First Course Examination 2016-2017

<o), Ll o
Subject; Electrical Civcuit

Stage: 18t \ / =
Date:
Instructor: Furkan kamil

2 e e

Q1/A/For the below Fig, with standard resistor values:

a. By inspection, which resistor will receive the largest? Share of the

applied voltage? Why?

b. The total current for the circuit.

¢. Find the voltage across the largest resistor using the voltage divider

rule.

d. Find the voltage across the series combination of resistors R2 and R3.

- E?I = i V?. — -+ VS s
By Ry #y
"My W Ay
10041 L ke 8.2 k0
= n

B/For the network in Fig below
a. Determine the currents [, /Iy, /5, and /,.

b. Calculate V, and V..

i



Tk

Q2/ Find the current I; for the network in Fig below using mesh analysis
fis

R| H’{ I
AW
1) 411 4
.2 B 2 18
E| -E— }ﬂ\‘.' R'_- 141 H.t - 51} .El'l_ _E-n-ﬁ v

—
-

Q3/Using Y-A conversion, find the current / in each of the networks in

Fig below.
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Q4/ Find the voltage across the 3(2 resistor in Fig below by nodal

- analysis.
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Automotive Materials

' chnical College of Najaf Subject:
Class: 1™ Stage

Automotive Department
Time : Rrs.

Ovas khudayer ¢ Attempt (201 6-2017)

Examiner: Firs
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Q1/ (A) Give three important pmpe-rﬂes for any three olements of the following:
(a) Aluminuim (Al) . (b) Nickel (Ni).
d) Lead (Pb). (12D)
(13D)

(c) Silver (Ap). (
(B) Differ between low and high carbon steel?

five reasons only for your

--------------------------------------

Q2/ (A) What ;s the method that used to joint the metals? Give five
choosing? (7D)
(B) What ar¢ the procedures for the materials selection for any application’? (13D)

(12D)
(10 D)

aterial?

Q3/(A) Describe (five) limitations
es of iron ores? Compare

---------------------------------------------------

hen choosing a 1ool material?
(13 D)

en into account W

Q4/ (A) What considerations must be tak

¥ 1ow do carbon tool steels satisfy these requireme-nts? Give five only
ection of final cylinder block material ,What 1s the method that must be
' (20 D)

(B) Before the sel
considered 7 Why?
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Ministry of Higher Education and Scientific Research
Al-Furat Al-Awsat Technical University
Tech. Eng. College - Najaf/Automobile Tech. Eng. Dept.

First semester examination 2016-2017
Subject: Mathematics Class: 1 year
Time: 2 hours Date: / [ 2017

Notes// 1. Please read the guestions carefully, 2. Answer all question
—~ e — — i

Q1:bj) Determine the value of x from the following equation: (15 Degree)

Sinhx:CoshX—}z—

Q1: b) Evaluate the following: cgc (sin™ %) (10 Degree)

Q2: a) Three of the following four points lie on & circle center
and  what is the radius of the circle?

are they
A(-1,7), B(5,-5), C(-7,5) and D(7,-1) (13 Degree)

(2: b) Find the domain and range of each function (12 Degree)
5 1
1' = — = |, - e -
1+ x NIi=x

Q3:a) Evaluate the following limits :
x.Sinx 2. Hm_«fx-i—l—\/ﬂ
- 2

1. lim=
y—1 x°—Xx

o= (x +sin o)
Q3: b) Prove the following identity :

Ccrs(A -B)~ C.OS(A +B) -
Sin(A +B) — Sin(A - B)

Q4:a) Find 4y for the following functions: (14 Degree)
, dx 3 :
L, p=| ”T__‘_} 2. y=ln (Inx)
\ AR
Q4: b) Find the derivative of y with respect to X in the following functions:
(11 Degree)

y = 2u andu=23x" -2

Dr. Eng. Mahdi Hatf Kadhum
The Examiner




